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is the most com

* Another solution is ' ome. Sometimes , it is
the best way for aging pare ind fear loneliness. However,
it’s often sad for both children feel guilty for abandoning their
parents and aging parents feel abanc eir children.
Taking care of aging and sometimes disabled parents can be such a difficult job
that we should find a proper way to deal with it.
( )1. What does the author mainly want to say?
A. French families are too small to host aging people.
B. It is not proper to care for the old at home.
C. The young people feel it is not right to have aging people in a nursing home.
D. It’s a problem to look after the aged or the disabled in France.
( )2. Which of the following is NOT true according to the passage?
A. The author has found the best and most satisfying way to take care of the
aging people. .
B. None of the ways mentioned in the passage are very good.
C. The aging people may feel lonely at home.
D. Both children and the aging people will feel unhappy if they choose the
nursing home.
( )3. What's the author’s aim in stating the problem?
A. He wants to make himself understood by readers.
B. He wants to call on the whole society to pay more attention to it.
C. He wants to be relaxed by telling others this problem.
D. He wants to say it is difficult for the young to take care of the old.
( )4. What does the underlined word “it” in the first paragraph refer to?
A. A large house.
B. The nuclear family.
C. Hosting their aging parents in their large houses.
D. An ill or disabled aging parent.
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prices soared by

The strongest price rises were see
in the North, with prices in the
region increasing by 3.6%,
followed by the southeast at 3%
and the East midlands at 2.8%. ,
At the other end of the scale the @

average cost of a home fell by
0.2% in East Anglia during the ) , /
period, while in the Northwest prices rose by only 0.5%. ! v
( )1. How much was the average cost of a home in England four weeks before May

6th if it is £ 255, 000 now?

A: £,227,500.

B. £ 25, 000.

C. £ 259, 900.

D. £ 251, 000.
)2. What is the most important reason for the price increasing fast this year?

A. The demand of the people.

B. The revival in the property market.

P

K

C. Commercial development.

D. The survey of the property website.

( )3. In which area did the price drop this yem'?
: A. Northwest.

B. London and the South.

C. East midlands.

D. East Anglia.

( )4. This passage probably appears in the part of in a newspaper.

A. the commercial news

B. the top news

C. the service news

D. the local news
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ﬁme for the kids to are afraid

early enough to
Explain to yc
not only in school, but als
Have a cut-off time f
of these entertainment sources in
must turn it off. .
Another thing that can disturb a child’s sleep is stress. Make sure there is nothing
causing your child to worry. This could include problems in the home, worry about the
illness of a family member or other family related problems. But it could also come from
things outside, like peer pressure or bullying.
Sleep is very important for everyone, but it is especially important during these
young years. Good habits can last a lifetime. Unfortunately, so can bad habits.
( )1. What does this passage talk about?
A. Sleep hygiene.
B. School supplies.
C. Children’s sleep.
D. Cut-off entertainment sources.
( )2. What does the underlined sentence “ Unfortunately, so can bad habits. ”
mean in the last paragraph?
A. Bad habits can not last a lifetime.
B. Bad habits can shorten a lifetime.
C. Both bad habits and good habits can last a lifetime.
D. Neither bad habits nor good habits can last a lifetime.
( )3. Which of the following statements can NOT make sure your children go to
sleep on time?
A. Giving them caffein drinks and chocolate before sleep.
B. Getting your children back on the school sleep/wake schedule.
C. Reducing the children’s worry.
‘ D. Having a cut-off time for entertainment sources.
( )4. Which of the statements is TRUE according to the passage?
A. Children are fond of going back to school.
B. Children must get between 10 and 11 hours of sleep.
C. Bedtime snacks should consist of all kinds of food.
D. The family’s problems and problems outside could affect children’s sleep.

better they’ll do,

S, tc , and if they have any
sure they understand that they

tion—are your;,
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“we do not

but a means to an

and shameful in
that the work of a

a professor, we can live

such countries. But

completely uneducated f:
without education, but we would If no one cleaned our streets
and carried the rubbish away fro

our cities.

e would get terrible diseases in

In fact, when we say that all of us must be educated to prepare us for life. It
means that we must be educated in such a way that, firstly, each of us can do whatever
work suits our own brains and ability and, secondly, that we can realize that all jobs
are necessary to society, and that is very bad to be ashamed of one’s work. Only such a
type of education can be considered valuable to our society.

( )1. The writer of this passage thinks that
A. education can settle all of the world’s problems
B. free education for all probably leads to a perfect world

C. free education won’t help to solve social problems

L
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D. all social problems can’t be solved by education
. The writer wants to prove that

A. our society needs all kinds of jobs

B. our society needs free education for all

C. a farmer is more important than a professor

D. people with a university degree refuse to do what they think is*low” work
. According to the passage, ;

A. working with your hands is dirty and shameful

B. working with your hands is “low” work

C. working with your hands is the most important work
; D. we shouldn’t regard the work with our hands as “low” work
( )4. The purpose of education is

A. to choose the system of education

B. to prepare children mainly for their future work
C. to let everyone receive education fit for him
D.

to prepare everyone for life
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scientists have askei |

and the changes in their heart
o d Most of the feelings they acted
didn’t cause changes, but when the students smiled, their heart rate and blood pressure
went down. That happened even though they were only acting! So even if we feel sad
inside, smiling seems to make us feel better.

Now, what makes us laugh? It seems that the answer to this question is far from

rate, blood pressure and temperature w

simple. Everyone likes jokes, but we don’t laugh at the same ones. It depends largely
on how old we are. There are kinds of jokes, for example, that children love but older
people might not think funny. Nationality, too, can make a difference.
( )1. In the first paragraph, the underlined word“stress” can be best explained
as® ”
A. surprise
B. work and duties
C. happiness and sadness
D. pressure and worries
( )2. In the passage, the writer seems to pay more attention to
A. how laughing and smiling are connected with health
B. comparing human beings with animals
C. what degree laughing and smiling are helpful
D. finding out if any research has been done about laughing
( )3. The passage tells us that smiling and laughing
A. have nothing to do with one’s heart rate
B. do one no good when he is sad
C. improve one’s blood pressure
D

. lower one’s blood pressure

<L




4 )4. What's the best title for the passage?
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lifeofavery' :
, schools, federal offices,
e the birth, the life and the

Each year since 1
post offices, banks across
dream of Dr. Martin Luther King

It is a time for the nation to reme
a time to remember his fight for the freedom

This Year’s Theme:

Remember! Celebrate! Act!

A Day On, Not A Day Off!!

( )1. Martin Luther King, Jr. was a leader in
A. the American independence
B. the Civil War
C. the Civil Rights Movement
D. helping the black slaves get their freedom
( )2. Which of the following is TRUE according to the passage?
A. Dr. King got married and became a minister in Alabama.
B. The theme of Martin Luther King Day changes from year to year.
C. He won the Nobel Prize for his work as a minister.
D. Martin Luther King Day was first celebrated in 1968.
( )3. What can we know from the passage?
A. Martin Luther King, Jr.’s family was very poor.
B. Dr. King became a minister after graduating from college.
C. Martin Luther King, Jr. won the Nobel Literature Prize in 1964.
D. Martin Luther King, Jr. died of cancer.

justices that Dr. King fought against,
and equality of all races and peoples.

<KLL <

A. Martin Luther King, Jr.’s family.
Martin Luther King Day
Martin Luther King, Jr.
. A Time for Freedom and Equality
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~( )4. Which is the best title for this passage?
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personal choice
is why people want to
business. A private
example. They are paid to snot
private lives of other people. This jol
forbidden because it is against the human 1
have a private life.

The fact that anyone can eavesdrop( 4 %7 ) on other people does not really bother
me; I think that it is human nature to be curious. What bother me, however, is that
some people do it with the purpose of hurting other people.

( )1. Which of the following is TRUE according to the passage?

A. Tt is easy to have a private life.

B. It is right to put our nose in others’ business.

C. It is unusual for a famous man to lose privacy.

D. It is wrong to spy on people with the purpose of hurting them.

( )2. The underlined phrase in the second paragraph can be replaced by ”.
A. get into

B. get interested in

C. spy on

L
v
v

D. look down upon

( )3. We can draw a conclusion from the passage that

A. the writer doesn’t want to let out his or her private secrets
B. the writer must have been investigated by someone else
C. someone spied on the writer

D. the writer is an expert who does research on this problem .

A. IAm Losing My Private Secret

B. Who Is Spying on Me

C. It’s Difficult to Be a Famous Man
D. It’s Difficult to Have a Private Life
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18 ) be good for

grown-ups have a hard ti  the modern world, so they

think back to their younger y seemed simple and harmless.
Kaplan says these feelings ¢ y existing. The good old days

weren't always good. However, she say ria can be helpful, if used properly.

“Nostalgia can cause you to remember a time when you had hopes and dreams,”
Kaplan says. “It might give you the strong wish to realize those dreams in your present
life. ” She adds that nostalgia can prevent you from “ cutting yourself off from
your aim”.
“At its best,” Kaplan says, “nostalgia provides ideas for the future. ”
€ )1. The reason for grown-ups to think back to their past is that
ne they have a hard time in keeping up with changes in today’s world
B. they don’t want to keep up with changes
C. they have little time to keep up with changes
D. they lived in the past, of which they are always proud
)2. Which of the following is NOT true according to the passage?
A. Too much nostalgia is harmful to people. :
B. Nostalgia shows that a person is not satisfied with the present life.
C. Only women have feelings of nostalgia.
D. A little nostalgia is harmless.
( )3. What is the best title for the passage?
A. Thoughts on Nostalgia
B. The Reasons for Nostalgia
C. Why People Think Back to the Past
: D. Nostalgia, Good or Bad?
( )4. The underlined word “lingering” in the second paragraph can be replaced
' by“ '
A. going through
B. thinking about
C. paying attention to

w
N
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D. going away
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exercise, what weigh

v weight.
Wait until you’re
Most people should wai ‘years old before trying the major

lifts. At 15, most people’s bodies a
lifts, performed with barbells( #r4%)
without right skills ‘and the help of experts.
Warﬁ:npmrleooldownforeachsu-on
Your warm-up part before weightlifting should include stretching exercises,

calisthenics ( 4k 3 ) and jogging. When you begm the lifting exercise, use small
amounts of weight at first and then progress to heavner ‘weights. Stretchmg is also
important during your cool down.
( )1. From the passage, we can see that the writer

A. doesn’t want people to do weightlifting

B. is very careful about this sport

C. must be a weight-lifter

D. encourages people to do weightlifting
( )2. The writer thinks that

A. weightlifting just needs sttength not skills

B. weightlifting athletes must follow others’ advice

C. advice from experts is useful to athletes

D. only coaches from colleges can offer you good advice on weightlifting
( )3. Which of the following is NOT mentioned about training weightlifting?

A. Proper goals.

B. Age.

C. Good preparation.

D. Self-confidence.

gh for these exercises. The major
cause injury if you lift heavy weights

( )4. What is the best title for the passage?

: A. Weight-Training and Weightlifting Safety
B. An Interesting Sport

C. Experience for Weightlifting
D. Safety First

Vi,
g
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. may holler at

‘at the other

saying“hullo” to
until the telephone
So, Edison made*he
invented the telephone in 1876, : ;dvocated( # 18 ) the use of
“ahoy” as a telephonic greeting. me popular, so did the greeting.
And soon it became a general greeting, s Dictionary kept printing “hello” as a
greeting word even as Alexander Graham Bell rejected the greeting all his life! He
insisted on saying, “Ahoy, Ahoy” !

But the dictionaries continued to promote “hello” as a standard greeting in the
English language and won the word war. Hello, Alexander Graham Bell, are
you listening?

( )1. Which of the following is NOT true according to the passage?

A. “Hello” became a popular greeting after the telephone was invented.

B. Thomas Alva Edison was the first to say “hello” when greeting.

C. Bell preferred “ahoy”to “hello” when speaking on the telephone.

D. The greeting “hallow” was probably brought into America from France.
)2. The underlined phrase”came along” can be replaced by“ 3
A. was invented
B. came together

C. came true

H
V
v

. D. was improved

( )3. What is the main idea of the first paragraph?

A. “Hello”is a common greeting over the telephone.

B. Everyone knows what“hello” means.

C. People must say“hello” on the telephone.

D. A person can speak on the telephone in a high or low voice.

B ¢ )4. What can we conclude from the passage?

‘A. Noah Webster was a famous painter.

B. Bell must have hated Edison because Bell did not like the greeting“hello”.

C. “Hello” first appeared in Noah Webster’s Dictionary as a greeting word
in 1885.

D. From this passage we can learn the history and the development of “hello”.

ININEVT O QvOd “TVAOH ON S
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enough. I decided to f
could be. T knew I would ne:
people and feeling like I have don

After thinking about all his interests
abilities, he decided to become a cab ver.
“Not just a regular taxi hack,” he continued,
“but a professional cab driver. One thing
I know for sure, to be good in my business

I could simply just meet the expectations of my

passengers. But to be great in my business,
I'd have to do my best. I like the sound of be-
ing ‘ great’ better than just getting by

on ‘average’. ”

( )1. Which of the following is TRUE according to the passage?
A. The taxi driver was the friend that the writer wanted to visit.
B. They did not know each other at that time.
C. The driver often picked up the writer from the airport.
D. They were boss and employee.
£ )2. The driver offered all the following services to passengers EXCEPT

. a tasty coffee

. various kinds of music

something to read

. safe and comfortable feeling

( )3. It can be inferred from the passage that

: A. the driver wanted to do his best, so he found a new job
B. the driver used to be a worker who made rockets
C. the old job was fit for the driver
D. the driver lost his job, so he had to become a cab driver

oo
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teenagers usually work.
most important ¢

work to gain their
work to be able to

jobs. For example, they
company needs, and carrying i companies. These are not good
jobs, and they don’t earn much mon. :

By comparison, middle class teenag gually work in stores or malls. They try to
sell as much as they can so that they would earn extra money for each thing they sell.
Obviously they won’t get rich with this job, but at least it’s only a part-time job, and
they can study in the mornings. . 3

In contrast, teenagers from low income families have to take full-time jobs, and

they can only take evening classes, which are less useful than morning classes.

We don’t have laws saying teenagers can or can’t work, but the government says
that all of them must study. But the law is hard to enforce, so in my country, it is as
common for teenagers to work as it is for adults.

( )1. It can be inferred from the passage that
A. earning money is the most important thing for all teenagers in Brazil
B. teenagers who work are not rich

C. they want to improve their skills by working at an early age

LKL

D. it is a habit for them to work in their teens
( )2. Which of the following is NOT true according to the passage?
A. The aim of all those teenagers who work is to make money.
B. Some teenagers don’t want to ask their parents for money.
C. Some children want to earn money for extra things.
D. Teenagers with little education can take“office boy” jobs.
( )3. In order to earn money, children from poor families
A. will get a well-paid job
B. will have to do physical work
C. may learn to do business
D. usually work in shops selling goods to customers
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#| 1 #9 ) on the co
allow stories to link to

wspapers offer print media

a chance to match with broal by increasing their services.

he local news. They become city

Online newspapers go far beyond

guides, sources of local history and other
The key reason that newspapers will continue to be popular nowadays is that they
are better than anyone else at collecting, editing and giving real information.
( )1. Which of the following is TRUE according to the passage?
A. The newspaper will continue its news coverage, with different features.
B. The Internet is more useful than newspapers in the future.
C. The Internet will replace traditional newspapers.
D. Newspapers can cover all the Internet offers in the future.
( )2. What kind of newspapers do people read these days?
A. Traditional newspapers.
B. Online newspapers.
C. Traditional and online newspapers.
D. People will never read traditional newspapers.
( )3. The most important reason that newspapers will not disappear in the future is
that
A. the chain-owned papers will not sit back and watch their own death
B. they are better than anyone else at collecting, editing and giving real
information
C. they have been able to stay alive through in-depth news stories
and features
; D. They become city guides, sources of local history, and other things
( )4. Why are online newspapers better than any other media according to
the passage?
A. Because they offer less information and services to readers.
B. Because putting a newspaper online is as simple as sending the content
and photos onto the Web.
C. Because online newspapers allow stories to link to past stories about the
subject and other sites. '
D. Because more people like to read online newspapers.
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